
FINAL ANSWER KEY

Paper: Eligibility Test Jr Asst KSFE
Date of Test 25-09-2024

Question1:-The first major struggle of social reforms in Kerala?
േകരള�ിെല സാ�ഹ�പരി�രണ�ിൻെറ ആദ�െ� �ധാന േപാരാ�ം?
        A:-Attingal Rebellion
ആ�ി�ൽ കലാപം
        B:-Salt Satyagraha
ഉ�് സത�ാ�ഹം
        C:-Guruvayur Satyagraha
��വാ�ർ സത�ാ�ഹം
        D:-Vaikom Satyagraha
ൈവ�ം സത�ാ�ഹം
        Correct Answer:- Option-D
Question2:-Who is the first woman DGP in Kerala?
േകരള�ിെല ആദ� വനിതാ ഡി.ജി.പി. ആരാണ്?
        A:-Sreelekha
�ീേലഖ
        B:-Kiran Bedi
കിരൺ േബദി
        C:-Merin Joseph
െമറിൻ േജാസഫ്
        D:-Sandhya
സ��
        Correct Answer:- Option-A
Question3:-Twenty-Twenty World Cup Cricket winner in 2024
2024 െല ട�ൻറി-20 േലാകക�് �ി��് േജതാ�ൾ
        A:-Australia
ഓേ�ലിയ
        B:-England
ഇം��്
        C:-South Africa
ദ�ിണാ�ി�
        D:-India
ഇ��
        Correct Answer:- Option-D
Question4:-Who introduced Kudumpasree in India?
��ംബ�ീെയ ഇ��യിൽ അവതരി�ി�ത് ആരാണ്?
        A:-Indira Gandhi
ഇ�ിരാ ഗാ�ി
        B:-Narendra Modi
നേര� േമാദി
        C:-A.B. Vajpayee
എ.ബി. വാജ്േപയി
        D:-Manmohansing
മൻേമാഹൻസിംഗ്
        Correct Answer:- Option-C
Question5:-Rice cultivation area below the sealevel
സ�� നിര�ിന് താെഴ�� െനൽ�ഷി �േദശം
        A:-Chittoor
ചി�ർ
        B:-Mananthavadi
മാന�വാടി
        C:-Kuttanad
��നാട്
        D:-Nenmara
െന�ാറ
        Correct Answer:- Option-C
Question6:-World Environment Day
േലാക പരി�ിതി ദിനം
        A:-August 5
ഓഗ�് 5
        B:-October 5
ഒേ�ാബർ 5
        C:-July 21
�ൈല 21
        D:-June 5
�ൺ 5
        Correct Answer:- Option-D
Question7:-Which State has a toilet for every family?
ഏത് സം�ാന�ാണ് ഓേരാ ��ംബ�ി�ം െശൗചാലയം ഉ�ത്?
        A:-West Bengal
പ�ിമ ബംഗാൾ
        B:-Hariyana
ഹരിയാന
        C:-Kerala
േകരളം
        D:-Tamilnadu
തമി�ാട്
        Correct Answer:- Option-C
Question8:-Who is known as Kerala Lincon?
േകരള ലി�ൺ എ�റിയെ���ത് ആരാണ്?
        A:-Vaikunda Swamikal
ൈവ�� സ�ാമികൾ
        B:-Pandit K.P. Karuppan
പ�ി�് െക.പി. ക��ൻ
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        C:-Chattampi Swamikal
ച��ി സ�ാമികൾ
        D:-K. Kelappan
െക. േകള�ൻ
        Correct Answer:- Option-B
Question9:-Who fought the first rebellion against British revenue system in Kerala?
�ി�ീഷ് റവന� സ�ദായ�ിെനതിെര േകരള�ിൽ ആദ�മായി കലാപം നട�ിയത് ആരാണ്?
        A:-Pazhasi Raja
പഴ�ിരാജ
        B:-Paliyathachan
പാലിയ��ൻ
        C:-Veluthampi
േവ���ി
        D:-Marthandavarma
മാർ�ാ�വർ�
        Correct Answer:- Option-A
Question10:-What is Portugal's most famous architecture?
േപാർ�ഗലിെല ഏ��ം �ശ�മായ വാ�വിദ� ഏതാണ്?
        A:-Gothic style
േഗാഥിക് ൈശലി
        B:-Rock-cut architecture
േറാ�്-ക�് വാ�വിദ�
        C:-Romanask
െറാമാനാ�്
        D:-Karolingian style
കേരാലിംഗിയൻ ൈശലി
        Correct Answer:- Option-A
Question11:-Who is the father of the Renaissance?
നേവാ�ാന�ിൻെറ പിതാവ് ആരാണ്?
        A:-Davinci
ഡാവി�ി
        B:-Petrarch
െപ�ാർ�്
        C:-Rajaram Mohan Roy
രാജാറാം േമാഹൻ േറായ്
        D:-Sree Narayana Guru
�ീനാരായണ ��
        Correct Answer:- Option-B
Question12:-Which number was Smt Droupadimurmu in the line of President in India?
ഇ��യിെല രാ�പതി�െട നിരയിൽ �ീമതി െ�ൗപദി�ർ� എ�ാമെ� രാ�പതിയാണ്?
        A:-15
15
        B:-16
16
        C:-17
17
        D:-18
18
        Correct Answer:- Option-A
Question13:-Father of Modern Travancore
ആ�നിക തി�വിതാം�റിൻെറ പിതാവ്
        A:-Sree Chithira Thirunnal
�ീ ചി�ിര തി�നാൾ
        B:-Marthandavarma
മാർ�ാ�വർ�
        C:-Velu Thampi
േവ� ത�ി
        D:-Avittom Thirunnal
അവി�ം തി�നാൾ
        Correct Answer:- Option-B
Question14:-Which state is called the sugar bowl of India?
ഇ���െട �ഗർ െബൗൾ എ�റിയെ��� സം�ാനം ഏതാണ്?
        A:-Maharashtra
മഹാരാ�
        B:-Hariyana
ഹരിയാന
        C:-Uttarpradesh
ഉ�ർ �േദശ്
        D:-Punjab
പ�ാബ്
        Correct Answer:- Option-C
Question15:-Who was the first Governer of Kerala?
േകരള�ിെല ആദ�െ� ഗവർണർ ആരായി��?
        A:-V.V. Giri
വി.വി. ഗിരി
        B:-Ramdulari Singha
രാം�ലാരി സിൻഹ
        C:-Ramakrishna Rao
രാമ�� റാ�
        D:-Sikhandar Bakth
സി��ർ ഭ�്
        Correct Answer:- Option-C
Question16:-Who is the Youngest Nobel Peace prize winner?
സമാധാന�ി�� ഏ��ം �ായം �റ� േനാബൽ സ�ാന േജതാവ് ആരാണ്?
        A:-Amarthya Sen
അമർത� െസൻ
        B:-Ravindranath Tagore
രവീ�നാഥ ടാേഗാർ
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        C:-Narges Mohammadi
നർഗീസ് �ഹ�ദി
        D:-Malala Yusuf Sai
മലാല �സഫ് സായി
        Correct Answer:- Option-D
Question17:-What was the first railway route in India?
ഇ��യിെല ആദ�െ� െറയിൽേവ ��് ഏതാണ്?
        A:-Delhi to Mumbai
ഡൽഹി �തൽ �ംൈബ വെര
        B:-Bombay to Thana
േബാംെബ �തൽ താന വെര
        C:-Culcutta to Mumbai
കൽ�� �തൽ �ംൈബ വെര
        D:-Punjab to Bombay
പ�ാബ് �തൽ േബാംെബ വെര
        Correct Answer:- Option-B
Question18:-Which river is known as English Channel of Kerala?
േകരള�ിെല ഇം�ീഷ് ചാനൽ എ�റിയെ��� നദി ഏതാണ്?
        A:-Kabani
കബനി
        B:-Kannadipuzha
ക�ാടി�ഴ
        C:-Mayyazhipuzha
മ�ഴി�ഴ
        D:-Kallaipuzha
ക�ായി�ഴ
        Correct Answer:- Option-C
Question19:-Where is Central Tuber Crops Research institute situated?
േക� കിഴ�വിള ഗേവഷണ�ാപനം എവിെടയാണ് �ിതി െച��ത്?
        A:-Mannuthi
മ��ി
        B:-Vellayani
െവ�ായണി
        C:-Sreekaryam
�ീകാര�ം
        D:-Palode
പാേലാട്
        Correct Answer:- Option-C
Question20:-Who among the following attended all the three Round Table conferences?
താെഴ�റ��വരിൽ ആരാണ് ��് വ�േമശ സേ�ളന�ളി�ം പെ���ത്?
        A:-B.R. Ambedkar
ബി.ആർ. അംേബദ്കർ
        B:-Jawaharlal Nehru
ജവഹർലാൽ െനഹ്�
        C:-Dr. Rajendraprasad
േഡാ. രാേജ��സാദ്
        D:-Sardar Vallabai Pattel
സർദാർ വ�ഭായ് പേ�ൽ
        Correct Answer:- Option-A
Question21:-Who founded Sadhu Jana Paripalana Yogam?
സാ� ജനപരിപാലന േയാഗം �ാപി�ത് ആരാണ്?
        A:-Pandit Karuppan
പ�ി�് ക��ൻ
        B:-Chattampi Swamikal
ച��ി സ�ാമികൾ
        C:-Ayyankali
അ��ാളി
        D:-Sree Narayanaguru
�ീനാരായണ��
        Correct Answer:- Option-C
Question22:-Who is the current minister of woman and child welfare in India?
ഇ��യിെല ഇേ�ാഴെ� വനിതാ ശി�േ�മ മ�ി ആരാണ്?
        A:-Smriti Irani
�തി ഇറാനി
        B:-Veena George
വീണ േജാർ�്
        C:-Mamtha Banerji
മമത ബാനർജി
        D:-Annapoorna Devi
അ��ർണ േദവി
        Correct Answer:- Option-D
Question23:-Who was the leader of INA women regiment?
ഐഎൻഎ വനിതാ െറജിെമൻറിൻെറ േനതാവ് ആരായി��?
        A:-Captain Lakshmi Sahgal
ക�ാപ്�ൻ ല�ി സഹ്ഗൽ
        B:-Vijayalakshmi Pandit
വിജയല�ി പ�ി�്
        C:-Sarojini Naidu
സേരാജിനി നായി�
        D:-Savitribai Phule
സാവി�ിബായ് �െല
        Correct Answer:- Option-A
Question24:-When did the Human Rights commission start in Kerala?
എേ�ാഴാണ് േകരള�ിൽ മ�ഷ�ാവകാശ ക�ീഷൻ ആരംഭി�ത്?
        A:-2008
2008
        B:-1998
1998
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        C:-2003
2003
        D:-2001
2001
        Correct Answer:- Option-B
Question25:-Who is the current leader of the opposition in India?
ഇ��യിെല ഇേ�ാഴെ� �തിപ� േനതാവ് ആരാണ്?
        A:-Naveen Patnaik
നവീൻ പട്നായിക്
        B:-Ombirla
ഓംബിർള
        C:-Rahul Gandhi
രാ�ൽ ഗാ�ി
        D:-Bhartruhari Mahtab
ഭർ�ഹരി മഹ്താബ്
        Correct Answer:- Option-C
Question26:-________ of us knew about the mishap.
        A:-None
        B:-Somebody
        C:-Anybody
        D:-No
        Correct Answer:- Option-A
Question27:-I'd better not _________ my bag there. Someone might steal it.
        A:-leaving
        B:-left
        C:-leave
        D:-to leave
        Correct Answer:- Option-C
Question28:-Visitors ________ to touch the exhibits.
        A:-was not allowed
        B:-will not allowed
        C:-is not allowed
        D:-are not allowed
        Correct Answer:- Option-D
Question29:-Which of the following is correctly spelt?
        A:-Bureaucracy
        B:-Bereaucracy
        C:-Buereacracy
        D:-Bureaucrasy
        Correct Answer:- Option-A
Question30:-Pass me the salt, ________?
        A:-do you?
        B:-won't you?
        C:-don't you?
        D:-are you?
        Correct Answer:- Option-B
Question31:-Raghu _______ me of a boy I used to know.
        A:-remembers
        B:-recalls
        C:-recollects
        D:-reminds
        Correct Answer:- Option-D
Question32:-The boys forgot to take _________ bags from the class.
        A:-they're
        B:-there
        C:-their
        D:-they
        Correct Answer:- Option-C
Question33:-Do not speak ill of a person _______ his back.
        A:-behind
        B:-on
        C:-at
        D:-by
        Correct Answer:- Option-A
Question34:-A short story based on personal experience
        A:-Anecdote
        B:-Antidote
        C:-Autobiography
        D:-Biography
        Correct Answer:- Option-A
Question35:-He was compelled to _______ the orders of his superiors.
        A:-carry on
        B:-carry out
        C:-carry away
        D:-carry off
        Correct Answer:- Option-B
Question36:-Here ______ my test scores.
        A:-is
        B:-was
        C:-did
        D:-are
        Correct Answer:- Option-D
Question37:-Some governments are ______ than others.
        A:-the worst
        B:-more worse
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        C:-more bad
        D:-worse
        Correct Answer:- Option-D
Question38:-The more we saw, the ______ we could believe.
        A:-least
        B:-less
        C:-little
        D:-fewer
        Correct Answer:- Option-B
Question39:-Pick the odd word from the list given below
        A:-Common
        B:-Usual
        C:-Strange
        D:-Regular
        Correct Answer:- Option-C
Question40:-Select the word that is a synonym of QUOTE
        A:-Cite
        B:-Sigh
        C:-Sight
        D:-Sue
        Correct Answer:- Option-A
Question41:-The man ______ daughter won the tournament is a tennis coach.
        A:-who's
        B:-whose
        C:-who
        D:-which
        Correct Answer:- Option-B
Question42:-Select the most appropriate antonym of INSTANT
        A:-Immediate
        B:-Soon
        C:-Delayed
        D:-Prompt
        Correct Answer:- Option-C
Question43:-Pick out the only sentence which is in the correct word order
        A:-She never is late to class
        B:-I have seen never that girl before
        C:-My parents are next summer thinking about buying a dog
        D:-I cycle to school every day
        Correct Answer:- Option-D
Question44:-If the child _______ medical attention he would survive.
        A:-received
        B:-will receive
        C:-would receive
        D:-receives
        Correct Answer:- Option-A
Question45:-Use a mask as a precaution ______ Corona Virus.
        A:-for
        B:-against
        C:-to
        D:-from
        Correct Answer:- Option-B
Question46:-''What are you doing tomorrow?'' he asked his friend. Select the most appropriate indirect form of the given sentence.
        A:-He asked his friend what he was doing tomorrow
        B:-He asked his friend what was he doing the next day
        C:-He asked his friend what he was doing the next day
        D:-He asked his friend what are you doing the next day
        Correct Answer:- Option-C
Question47:-Select the incorrectly spelt word
        A:-Committee
        B:-Colloborate
        C:-Connive
        D:-Corporate
        Correct Answer:- Option-B
Question48:-Which of the following words is in the plural form?
        A:-Curriculum
        B:-Cactus
        C:-Mice
        D:-Radius
        Correct Answer:- Option-C
Question49:-No parents would turn a blind eye to their children's misdeeds. Choose the correct meaning of the idiom 'turn a blind eye'.
        A:-be angry
        B:-be sad
        C:-ignore
        D:-to give a warning
        Correct Answer:- Option-C
Question50:-_______ only student who secured an A grade is my friend.
        A:-the
        B:-an
        C:-no article
        D:-a
        Correct Answer:- Option-A
Question51:-Which is an irrational number?
��ിരഹിതമായ സംഖ� ഏതാണ്?
        A:-`sqrt((12)/(3))`
`sqrt((12)/(3))`

Home Page http://192.168.1.6/dept/modules/marklist/answe...

5 of 12 Monday 21 October 2024 02:50 PM



        B:-`sqrt50/sqrt2`
`sqrt50/sqrt2`
        C:-`sqrt(2xx32)`
`sqrt(2xx32)`
        D:-`sqrt((24)/(3))`
`sqrt((24)/(3))`
        Correct Answer:- Option-D
Question52:-How many odd numbers are there between 1 and 100 which are exactly divisible by 7?
7 െകാ�് �ത�മായി വിഭജി�ാ�� 1�ം 100�ം ഇടയിൽ എ� ഒ� സംഖ�കൾ ഉ�്?
        A:-14
14
        B:-7
7
        C:-15
15
        D:-6
6
        Correct Answer:- Option-B
Question53:-Which fraction is equal to `(3)/(4)` in the following fractions?
താെഴ�റ�� ഭി�സംഖ�കളിൽ `(3)/(4)`ന് �ല�മായ ഭി�സംഖ� ഏതാണ്?
        A:-`(2)/(3)`
`(2)/(3)`
        B:-`(9)/(16)`
`(9)/(16)`
        C:-`(6)/(8)`
`(6)/(8)`
        D:-`(4)/(3)`
`(4)/(3)`
        Correct Answer:- Option-C
Question54:-Value of `2^3+19-9xx21-:7xx3` is
`2^3+19-9xx21-:7xx3` ൻെറ �ല�ം
        A:-0
0
        B:-27
27
        C:-36
36
        D:-–54
–54
        Correct Answer:- Option-D
Question55:-Which is the mode of the marks ?
13, 2, 10, 8, 13, 2, 7, 2, 9, 7, 2
മാർ�ിൻെറ േമാഡ് ഏതാണ്?
13, 2, 10, 8, 13, 2, 7, 2, 9, 7, 2
        A:-2
2
        B:-9
9
        C:-15
15
        D:-10
10
        Correct Answer:- Option-A
Question56:-What is the remainder, when 328 × 143 is divided by 5?
328 × 143 െന 5 െകാ�് ഹരി�േ�ാൾ ശി�ം എ�യാണ്?
        A:-3
3
        B:-2
2
        C:-1
1
        D:-4
4
        Correct Answer:- Option-D
Question57:-Which of the following binary numbers, is equal to ten based number 10?
താെഴ�റ�� ൈബനറി സംഖ�കളിൽ ഏതാണ് പ�് അടി�ാനമാ�ി�� സംഖ� 10 ന് �ല�മാണ്?
        A:-`(1010)_2`
`(1010)_2`
        B:-`(1001)_2`
`(1001)_2`
        C:-`(1100)_2`
`(1100)_2`
        D:-`(0110)_2`
`(0110)_2`
        Correct Answer:- Option-A
Question58:-HCF of 48 and 80
48 ൻെറ�ം 80 ൻെറ�ം ഉ.സാ.ഘ.
        A:-240
240
        B:-8
8
        C:-12
12
        D:-16
16
        Correct Answer:- Option-D
Question59:-Which is the next number of the series 0, 7, 26, 63, ......... ?
0, 7, 26, 63, ......... സീരീസിെല അ�� സംഖ� ഏതാണ്?
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        A:-78
78
        B:-96
96
        C:-124
124
        D:-85
86
        Correct Answer:- Option-C
Question60:-Which, of the following fractions, is between `(3)/(7)`  and `(7)/(3)`?
താെഴ�റ�� ഭി��ളിൽ ഏതാണ് `(3)/(7)` �ം `(7)/(3)` �ം ഇടയി��ത്?
        A:-`(2)/(7)`
`(2)/(7)`
        B:-`(19)/(4)`
`(19)/(4)`
        C:-`(5)/(6)`
`(5)/(6)`
        D:-`(3)/(10)`
`(3)/(10)`
        Correct Answer:- Option-C
Question61:-What is the mean of the scores 21, 22, 25, 30, 22 ?
21, 22, 25, 30, 22  േ�ാ�ക�െട ശരാശരി എ�യാണ് ?
        A:-24
24
        B:-22
22
        C:-25
25
        D:-25.5
255
        Correct Answer:- Option-A
Question62:-Value of `(1-1/3) (1-1/4) (1-1/5) (1-1/6).....(1-1/10)`  is
`(1-1/3) (1-1/4) (1-1/5) (1-1/6).....(1-1/10)` ൻെറ �ല�ം
        A:-`9/10`
`9/10`
        B:-`1/5`
`1/5`
        C:-`1/10`
`1/10`
        D:-1
1
        Correct Answer:- Option-B
Question63:-Value of `(2^4xx2^-2xx2^0)/(2^-1xx2^2)` is
`(2^4xx2^-2xx2^0)/(2^-1xx2^2)` ൻെറ �ല�ം
        A:-2
2
        B:-8
8
        C:-0
0
        D:-1
1
        Correct Answer:- Option-A
Question64:-What is 20% of 125 ?
125 ൻെറ 20% എ�?
        A:-20
20
        B:-25
25
        C:-625
625
        D:-600
600
        Correct Answer:- Option-B
Question65:-The cost of one table and 3 chairs is Rs.3,400. The cost of one table and 5 chairs of the same type is Rs.4,800. What is the cost of one
table?
1 േമശ�െട�ം 3 കേസരക�െട�ം വില 3,400 �പ ആണ്. ഒേര തര�ി�� 1 േമശ�െട�ം 5 കേസരക�െട�ം വില 4,800 �പയാണ്. 1 േമശ�െട വില എ�യാണ്?
        A:-700
700
        B:-800
800
        C:-1200
1200
        D:-1300
1300
        Correct Answer:- Option-D
Question66:-30 men can do a work in 40 days. How many men are need to complete the work in 12 days?
30 ��ഷ�ാർ�് 40 ദിവസം െകാ�് ഒ� േജാലി െച�ാൻ കഴി�ം. 12 ദിവസം െകാ�് േജാലി �ർ�ിയാ�ാൻ എ� ��ഷ�ാർ േവണം?
        A:-16
16
        B:-50
50
        C:-100
100
        D:-32
32
        Correct Answer:- Option-C
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Question67:-Value of `(0.1xx0.001xx1.1)/(0.01)` is
`(0.1xx0.001xx1.1)/(0.01)`-ൻെറ �ല�ം
        A:-0.1
0.1
        B:-0.01
0.01
        C:-0.001
0.001
        D:-0.011
0.011
        Correct Answer:- Option-D
Question68:-What is the 21th term of the sequence 5, 13, 21, ...... ?
5, 13, 21, ...... േ�ണിയിെല 21-◌ാമെ� പദം എ�ാണ് ?
        A:-165
165
        B:-160
160
        C:-180
180
        D:-162
162
        Correct Answer:- Option-A
Question69:-Which is odd one in the following numbers?
താെഴ�റ�� സംഖ�കളിൽ ഒ�െ�� ഒ�് ഏതാണ്?
        A:-27
27
        B:-125
125
        C:-60
60
        D:-8
8
        Correct Answer:- Option-C
Question70:-If `sqrt(625)=25`, then `(2.5)^2` is
`sqrt(625)=25` ആെണ�ിൽ `(2.5)^2` ________ ആ��.
        A:-62.5
62.5
        B:-`quadsqrt(6.25)`
`quadsqrt(6.25)`
        C:-`quadsqrt(62.5)`
`quadsqrt(62.5)`
        D:-6.25
6.25
        Correct Answer:- Option-D
Question71:-Which is equal to `quad(1)/(sqrt(2)+1)` ?
 `quad(1)/(sqrt(2)+1)`-ന് �ല�മാണ്
        A:-`quad(sqrt(2)-1)/(1)`
`quad(sqrt(2)-1)/(1)`
        B:-`quad(sqrt(2)+1)/(1)`
`quad(sqrt(2)+1)/(1)`
        C:-`quad(sqrt(2))/(sqrt(1))`
`quad(sqrt(2))/(sqrt(1))`
        D:-`quad(sqrt(2)+1)/(sqrt(2)-1)`
`quad(sqrt(2)+1)/(sqrt(2)-1)`
        Correct Answer:- Option-A
Question72:-What is to be divided the product of –10 and 6 to get –15 ?
 –15 ലഭി��തിന് -10, 6 എ�ിവ�െട �ണനെ� __________ െകാ�് വിഭജി�ണം.
        A:-4
4
        B:-–4
–4
        C:-`(1)/(4)`
`(1)/(4)`
        D:-`(-1)/(4)`
`(-1)/(4)`
        Correct Answer:- Option-A
Question73:-The difference between the simple interest and compound interest for an amount after 2 years is Rs.160. If the simple interest for 2
years is Rs.4,000. What is the rate of interest?
2 വർഷ�ി�േശഷം ഒ� �ക�െട സാധാരണ പലിശ�ം ��പലിശ�ം ത�ി�� വ�ത�ാസം 160 �പയാണ്. 2 വർഷേ���സാധാരണ പലിശ 4,000 �പയാെണ�ിൽ, പലിശ നിര�്
എ�യാണ്?
        A:-4%
4%
        B:-6%
6%
        C:-8%
8%
        D:-20%
20%
        Correct Answer:- Option-C
Question74:-Which of the ratios given below is not equal to 3:4 ?
�വെട നൽകിയിരി�� അ�പാത�ളിൽ ഏതാണ് 3:4 ന് �ല�മ�ാ�ത് ?
        A:-12:16
12:16
        B:-6:8
6:8
        C:-18:24
18:24
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        D:-9:16
9:16
        Correct Answer:- Option-D
Question75:-Distance travelled is 390 km and time taken is 3 hours and 15 minutes. What is the average speed?
സ�രി� �രം 390 കിേലാമീ��ം എ��� സമയം 3 മണി�ർ 15 മിനി�മാണ്. ശരാശരി േവഗത എ�യാണ്?
        A:-130 km/hr
മണി�റിൽ 130 കിേലാമീ�ർ
        B:-120 km/hr
മണി�റിൽ 120 കിേലാമീ�ർ
        C:-150 km/hr
മണി�റിൽ 150 കിേലാമീ�ർ
        D:-100 km/hr
മണി�റിൽ 100 കിേലാമീ�ർ
        Correct Answer:- Option-B
Question76:-Wavelength longer than visible light
�ശ� �കാശേ��ാൾ തരംഗൈദർഘ�ം �ടിയ തരംഗം
        A:-Ultra Violet
അൾ�ാ വയല�്
        B:-X-rays
X-കിരണ�ൾ
        C:-Radio waves
േറഡിേയാ തരംഗ�ൾ
        D:-Gamma Rays
ഗാമാ കിരണ�ൾ
        Correct Answer:- Option-C
Question77:-'Minamata' - Causing disease
'മീനമാത' - േരാഗ�ിന് കാരണമാ��ത്
        A:-Mercury
െമർ�റി
        B:-Lead
െലഡ്
        C:-Arsenic
ആർസനിക്
        D:-Tin
ടിൻ
        Correct Answer:- Option-A
Question78:-It is the process of thickening the oxide coating on the surface of aluminum
അ�മിനിയ�ിൻെറ ഉപരിതല�ിെല ആവരണമായ ഓൈ�ഡിൻെറ ക�ി ��� ��ിയയാണ്
        A:-Galvanizing
ഗാൽവൈനസിംഗ്
        B:-Anodizing
അേനാൈഡസിംഗ്
        C:-Cladding
�ാഡിംഗ്
        D:-Leaching
ലീ�ിംഗ്
        Correct Answer:- Option-B
Question79:-Which is the monomer of polyethylene?
േപാളി�ീൻെറ േമാണമേറത്?
        A:-Ethane
ഈേഥൻ
        B:-Acetylene
അസ�ിലീൻ
        C:-Methane
മീേഥയ്ൻ
        D:-Ethylene
എഥിലീൻ
        Correct Answer:- Option-D
Question80:-Which of the following elements is not a constituent of the alloy 'Alnico'?
താെഴ െകാ��വയിൽ 'അൽനിേ�ാ' എ� േലാഹ സ�ര�ിൻെറ ഘടകമ�ാ� �ലകേമത്?
        A:-Aluminum
അ�മിനിയം
        B:-Cobalt
െകാബാൾ�്
        C:-Copper
േകാ�ർ
        D:-Iron
അയൺ
        Correct Answer:- Option-C
Question81:-The substance known as 'wolfram'
'�ൾ�ം' എ�റിയെ��� പദാർ�ം
        A:-Nickel
നി�ൽ
        B:-Nichrome
നിേ�ാം
        C:-Iron
അയൺ
        D:-Tungsten
ടങ്�ൺ
        Correct Answer:- Option-D
Question82:-Which of the following is not a non-metal?
താെഴ�റ��വയിൽ ഉപേലാഹമ�ാ�േതത്?
        A:-Carbon
കാർബൺ
        B:-Boron
േബാേറാൺ
        C:-Silicon
സിലി�ൺ
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        D:-Germanium
െജർമീനിയം
        Correct Answer:- Option-A
Question83:-Metal used in the process of vulcanisation of rubber
റബറിൻെറ വൾ�ൈനേസഷൻ (Volcanisation) ��ിയയിൽ ഉപേയാഗി�� അേലാഹം
        A:-Phosphorus
േഫാ�റസ്
        B:-Sulphur
സൾഫർ
        C:-Carbon
കാർബൺ
        D:-Silicon
സിലി�ൺ
        Correct Answer:- Option-B
Question84:-The unit used to indicate the power of a lens
െലൻസിൻെറ പവർ �ചി�ി�ാൻ ഉപേയാഗി�� �ണി�്
        A:-Watt
വാ�്
        B:-Farad
ഫാരഡ്
        C:-Diopter
ഡേയാപ്�ർ
        D:-Decibel
െഡസിെബൽ
        Correct Answer:- Option-C
Question85:-A time-velocity graph
ഒ� സമയ - സമ�േവഗ �ാഫ്
        A:-Perpendicular to time axis
സമയ അ��ിന് ലംബമായിരി�ം
        B:-The velocity will be parallel to the axis
�േവഗ അ��ിന് സമാ�രമായിരി�ം
        C:-Will be parallel to time axis
സമയ അ��ിന് സമാ�രമായിരി�ം
        D:-None of these
ഇവെയാ�മ�
        Correct Answer:- Option-C
Question86:-Instrument used for calculating electricity consumption
ൈവദ�ത ഉപേഭാഗം കണ�ാ��തിന് ഉപേയാഗി�� ഉപകരണം
        A:-Galvanometer
ഗാൽവേനാമീ�ർ
        B:-Volt meter
േവാൾ�് മീ�ർ
        C:-Altimeter
അൾ�ിമീ�ർ
        D:-Watt hour meter
വാ�് ഔവർ മീ�ർ
        Correct Answer:- Option-D
Question87:-Waves used in night cameras that take photos at night
രാ�ിയിൽ േഫാേ�ാ എ��� ക�ാമറകളിൽ ഉപേയാഗി�� തരംഗ�ൾ
        A:-Ultraviolet
അൾ�ാവയല�്
        B:-Infrared
ഇൻ�ാെറഡ്
        C:-Microwave
ൈമേ�ാേവവ്
        D:-Radio waves
േറഡിേയാ തരംഗ�ൾ
        Correct Answer:- Option-B
Question88:-In an object placed in front of a convex lens produces an image of equal size, where will the position of the object be?
ഒ� േകാൺെവ�് െലൻസിൻെറ ��ിൽ െവ� ഒ� വ�വിൻെറ �ല�വ���ി�� �തിബിംബം ലഭി��െവ�ിൽ വ�വിൻെറ�ാനം എവിെടയായിരി�ം?
        A:-Focus (F)
േഫാ�സിൽ (F)
        B:-Between Focus and Pole
േഫാ�സി�ം േപാളി�ം ഇടയിൽ
        C:-At center of curvature (at 2F)
വ�താ േക��ിൽ (2F-ൽ)
        D:-between F and 2F
F �ം 2F �ം ഇടയിൽ
        Correct Answer:- Option-C
Question89:-Minor components of meat
മാംസ��ിൻെറ ല�ഘടക�ൾ
        A:-Fatty Acid
ഫാ�ി ആസിഡ്
        B:-Lactic Acid
ലാ�ിക് ആസിഡ്
        C:-Amino Acid
അമിേനാ ആസിഡ്
        D:-Glycerol
�ിസേറാൾ
        Correct Answer:- Option-C
Question90:-Metal contained in green
ഹരിതക�ിൽ അട�ിയ േലാഹം
        A:-Calcium
കാൽസ�ം
        B:-Iron
ഇ��്
        C:-Potassium
െപാ�ാസ�ം
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        D:-Magnesium
െമഗ് നീഷ�ം
        Correct Answer:- Option-D
Question91:-Which is not true about cardiac muscle fiber
�ദയ േപശിത�വിെന സംബ�ി�് ശരിയ�ാ�ത്
        A:-Spindle shape
�ിൻഡിൽ ആ�തി
        B:-Involuntary
അൈനഛികം
        C:-Linear
േരഖാ�ിതം
        D:-Branches out
ശാഖകളായി പിരി�വ
        Correct Answer:-Question Cancelled
Question92:-Cell where Golgibodies are more likely to be seen
േഗാൾഗിേബാഡികൾ ��തൽ കാണാനിട�� േകാശം
        A:-Cover art
ആവരണകല
        B:-Glandular Art
��ീകല
        C:-Neurology
നാഡീകല
        D:-Musculature
േപശീകല
        Correct Answer:- Option-B
Question93:-The part that initiates the heartbeat
�ദയ ��ന�ിന് �ട�ം�റി�� ഭാഗം
        A:-Right ventricle
വലത് െവൻ�ി�ിൾ
        B:-Valves
വാൽ�കൾ
        C:-Left atrium
ഇടത് ഏ�ിയം
        D:-Pacemaker
േപേ��ർ
        Correct Answer:- Option-D
Question94:-Sound receptors are located
ശ��ാഹികൾ�ിതിെച��ത്
        A:-Organ of Court
ഓർഗൻ ഓഫ് േകാർ�ി
        B:-Ampulla
ആംപ�ല
        C:-Vestibule
െവ�ിബ�ൾ
        D:-Madhyakarnam
മധ�കർണം
        Correct Answer:- Option-A
Question95:-Defect in electrical waves in the brain is the cause of __________ disease.
തലേ�ാറിെല ൈവദ�ത തരംഗ��െട തകരാറാണ് _________ േരാഗ�ിന് കാരണം
        A:-Alzheimer's
അൽഷിമർ
        B:-Epilepsy
അപ�ാരം
        C:-Parkinson
പാർ�ിൻസൺ
        D:-Meningitis
െമനിെ��ിസ്
        Correct Answer:- Option-B
Question96:-Who discovered nucleic acids?
ന��ി�ാസി�കൾ കെ��ിയതാര്?
        A:-Darwin
ഡാർവിൻ
        B:-James Watson
െജയിംസ് വാ�്സൺ
        C:-Friedrich Mischer
�ഡ്റിക് മിഷർ
        D:-Francis Crick
�ാൻസിസ് �ിക്
        Correct Answer:- Option-C
Question97:-ECG : Heart :: EEG : ________?
ECG : �ദയം :: EEG : ________?
        A:-Lungs
ശ�ാസേകാശം
        B:-Brain
തലേ�ാറ്
        C:-Kidney
��
        D:-Sushumna
���
        Correct Answer:- Option-B
Question98:-A genetic disease
ഒ� ജനിതകേരാഗം
        A:-Haemophilia
ഹീേമാഫീലിയ
        B:-Anthrax
ആ�ാ�്
        C:-AIDS
AIDS
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        D:-Typhoid
ൈടേഫായിഡ്
        Correct Answer:- Option-A
Question99:-The causative agent of Curunab in banana
വാഴയിെല ��നാബിന് കാരണമായ േരാഗകാരി
        A:-Insects
ഷഡ്പദ�ൾ
        B:-Bacteria
ബാ�ീരിയ
        C:-Fungi
ഫംഗ�കൾ
        D:-Virus
ൈവറസ്
        Correct Answer:- Option-D
Question100:-'Nephridia' is related to which organism?
'െന�ിഡിയ' ഏത് ജീവി�മായി ബ�െ��താണ്?
        A:-Cockroach
പാ�
        B:-Frog
തവള
        C:-Earthworm
മ�ിര
        D:-Spider
എ�കാലി
        Correct Answer:- Option-C
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